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M: Excuse me, could you tell me how to get to the post office?

F : Sure. After you go out of the station, go straight and turn left at the first corner.
Then, walk down the street and turn right at the second corner.

M: OK. Then...

F : Keep on walking and you’ll come to a bridge.

M: Do I cross it?

F : No, before the bridge, there’s a flower shop on your right. The post office is just
across from it. It’s very easy to find.

M: I see. Thanks for your help.
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Attention please. The trains on the East Line have been stopped because of an
accident at Johnson Station. East Line Super Express is also out of service.
Those who want to go to Johnson Station, please take the free shuttle bus from this
station.
Those who want to go to Valley Station, please take the Central Line from this
station and go to Parkway Station. Change trains there to the Midland Line. Valley
Station is a twenty-minute ride from Parkway Station.

Thank you.

Q What is happening now?

O People must use East Line Super Express.
@ People must get off at Johnson Station.

@ People can’t use the East Line.

@ People can’t go to Johnson Station.

Q To go to Valley Station, what should you do?

@ Take the shuttle bus from this station.

@ Take the East Line and change trains at Parkway Station.
@ Take the Midland Line, then change to the Parkway Line.
@ Take the Central Line, then change to the Midland Line.
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(1) “What( ) do they speak in Canada? ™
“They speak English and French.”

@ countries
@ languages
@ nations
@ persons

(2) “How did you ( ) last weekend? ™
“I went to see a movie with my friends.”

@ care
® make
@ spend
@ use
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Positions Wanted

I’'m Jake Stevenson. I’'m a student at Brentwood High School, and I am
looking for a part-time job. I can work evenings after school, but not on
Tuesday evenings. I'd like to work in or around the town of Brentwood.

I’'m Maria Gomez. I’'m a second-year student at Frontenac College. I
am looking for a summer job from June through August. During that time [
want to work full-time. I can use Word and Excel for Windows computers.

Help Wanted

A. A Chinese Restaurant in Brentwood needs a waiter to works at lunch time.
Great salary and free meals. Monday through Saturday from 10 a.m. to 2
p-m.

B. Prazzi, a boutique in downtown Seattle needs part-time sales staff. A person
who can use Excel is welcomed. Working Hours: 11:00 to 15:00. Closed on
Tuesdays.

C. Johnson Co. needs a summer time office clerk who can work either part-time
or full-time. A person with a high school guraduate level of education is
wanted.

D. A fitness club in Brentwood needs a part-time office clerk. A person who
can work more than three evenings a week is wanted.

(1) Which job is good for Jake Stevenson?
@ A

B

C

D

OO

(2) Which job is good for Maria Gomez?
O A
B
@ C
@D

)



